Sayreville Special Services Department											
		Projecte						jected Hours & Cost			
Last Name	First Name	Position	Case Management	IEP Meeting	Evaluation	TOTAL	RATE	COST			
Bergfeldt	Susannah	Gen/Spec Ed Teacher	0	1	0		\$60.00	\$60.00			
Brooks	Rachel	Gen/Spec Ed Teacher	0	1	0	1	\$60.00	\$60.00			
Brown	Melissa	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Buonpane	Lauren	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
DeSena	Michele	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Dragone	Rebecca	Gen/Spec Ed Teacher	0	1	0	1	\$60.00	\$60.00			
Gates	Linda	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Minnuies	Laura	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Mondano	Jennifer	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Moran	Hannah	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Morosco	Gineen	Gen/Spec Ed Teacher	0	4	0	4	\$60.00	\$240.00			
Olesky	Kristin	Gen/Spec Ed Teacher	0	0	0	0	\$60.00	\$0.00			
Szkodny	Jean	Gen/Spec Ed Teacher	0	1	0	1	\$60.00	\$60.00			
Wright	Karen	Gen/Spec Ed Teacher	0	1	0	1	\$60.00	\$60.00			
Allen	Jamie	General Education Teacher	0	1	0	1	\$60.00	\$60.00			
Babst	Robert	General Education Teacher	0	0	0	0	\$60.00	\$0.00			
Boehringer	Lorraine	General Education Teacher	0	12	0	12	\$60.00	\$720.00			
Critelli	Maria	General Education Teacher	0	0	0	0	\$60.00	\$0.00			
Daly	Justine	General Education Teacher	0	0	0	0	\$60.00	\$0.00			
Duda	Jeanna	General Education Teacher	0	7	0	7	\$60.00	\$420.00			
Geison	Kulsum	General Education Teacher	0	0	0	0	\$60.00	\$0.00			
Good	Cynthia	General Education Teacher	0	0	0	0	\$60.00	\$0.00			
Grieco	Christa	General Education Teacher	0	0	0	0	\$60.00	\$0.00			
Haney	Victoria	General Education Teacher	0	3	0	3	\$60.00	\$180.00			
Hoehman	Jordan	General Education Teacher	0	2	0	2	\$60.00	\$120.00			
Hoff	Katie	General Education Teacher	0	1	0	1	\$60.00	\$60.00			
Hornlein	Justin	General Education Teacher	0	6	0	6	\$60.00	\$360.00			
Howard	Regina	General Education Teacher	0	0	0	0	\$60.00	\$0.00			

Joshiah	Shennet	General Education Teacher	0	0	0	0	\$60.00	\$0.00
Laurie	Antoinette	General Education Teacher	0	0	0	0	\$60.00	\$0.00
Lawlor	Christine	General Education Teacher	0	1	0	1	\$60.00	\$60.00
Marchetta	Jessica	General Education Teacher	0	0	0	0	\$60.00	\$0.00
Marques Barroqueiro	Melanie	General Education Teacher	0	0	0	0	\$60.00	\$0.00
McCabe	Christina	General Education Teacher	0	0	0	0	\$60.00	\$0.00
McGarry	Jillian	General Education Teacher	0	0	0	0	\$60.00	\$0.00
O'Donnell	Joseph	General Education Teacher	0	0	0	0	\$60.00	\$0.00
Vogel	David	General Education Teacher	0	0	0	0	\$60.00	\$0.00
West	Colleen	General Education Teacher	0	1	0	1	\$60.00	\$60.00
Brock	Deena	LDTC	8.5	12	44	64.5	\$60.00	\$3,870.00
Carnevale	Darci	LDTC	0	0	0	0	\$60.00	\$0.00
DiBernardo	Gina	LDTC	15	8	0	23	\$60.00	\$1,380.00
Grove	Meghan	LDTC	6	9.5	34	49.5	\$60.00	\$2,970.00
Hartnett	Kristin	LDTC	1	12	66	79	\$60.00	\$4,740.00
Horvat	Cvetelina	LDTC	3	4	11	18	\$60.00	\$1,080.00
Oleszkiewicz	Jessica	LDTC	29.5	16	45	90.5	\$60.00	\$5,430.00
Giarraffa	Tara	Occupational Therapist	0	4	27.5	31.5	\$60.00	\$1,890.00
Gonzalez	Marisol	Occupational Therapist	0	7	33	40	\$60.00	\$2,400.00
Tiberi	Debra	Occupational Therapist	0	4	0	4	\$60.00	\$240.00
Borrell-DeMaio	Lizabeth	Physical Therapist	0	4	16.5	20.5	\$60.00	\$1,230.00
Barone	Samantha	School Psychologist	11.5	16	71.5	99	\$60.00	\$5,940.00
Cohen	Jennifer	School Psychologist	0	0	0	0	\$60.00	\$0.00
Connor	Taryn	School Psychologist	6	14	55	75	\$60.00	\$4,500.00
Mendez-Sanchez	Evelyn	School Psychologist	16.5	30	100	146.5	\$60.00	\$8,790.00
Barreiro	Jennifer	School Social Worker	22.5	18	71.5	112	\$60.00	\$6,720.00
Fazzini	Jared	School Social Worker	33	12	49.5	94.5	\$60.00	\$5,670.00
Kong	Cecily	School Social Worker	21	18	1	40	\$60.00	\$2,400.00
Rivers	Jimeka	School Social Worker	10.5	16	71.5	98	\$60.00	\$5,880.00
Ploskonka	Liana	School Social Worker	9	13	55	77	\$60.00	\$4,620.00
Aurora	Grace	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Beinert	Heather	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Bellina	Laura	Special Education Teacher	0	0	0	0	\$60.00	\$0.00

Brooks	Rachel	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Brown	Melissa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Carnevale	Darci	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Cerbone	Leeann	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Ciampa	Melissa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Condurso	Lynn	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Coughlin	Courtney	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
David	Danielle	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
DeSena	Michele	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Dragone	Rebecca	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Duhigg	Nicolette	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Oniell-Fleschner	Kerry	Special Education Teacher	0	9	0	9	\$60.00	\$540.00
Fritz	Kristine	Special Education Teacher	0	2	0	2	\$60.00	\$120.00
Gates	Linda	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Hornlein	Laura	Special Education Teacher	0	6	0	6	\$60.00	\$360.00
Horvat	Cvetelina	Special Education Teacher	3	4	11	18	\$60.00	\$1,080.00
Kraus	Rachel	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Kutcher	Amanda	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Loch	Deanna	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Marchetta	Jessica	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Mayer	Lisa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Merrick	Michelle	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Minnuies	Laura	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Mondano	Jennifer	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Moran	Hannah	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Morosco	Gineen	Special Education Teacher	0	4	0	4	\$60.00	\$240.00
Olesky	Kristin	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Parlagreco	Erin	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Pawelek	Lisa	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Rubay	Leeann	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Schaub	Jessica	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Szkodny	Jean	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Tjornhom	Kori	Special Education Teacher	0	0	0	0	\$60.00	\$0.00

Tomaszewski	Haley	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
VanDoren	Lisa	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Whiteley	Kelly	Special Education Teacher	0	0	0	0	\$60.00	\$0.00
Wright	Karen	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Zalnieratis	Lisa	Special Education Teacher	0	1	0	1	\$60.00	\$60.00
Alfano	Christina	Speech Therapist	0	2	11	13	\$60.00	\$780.00
Chita	Tania	Speech Therapist	0	3	11	14	\$60.00	\$840.00
Dean	Bridget	Speech Therapist	0	5	23	28	\$60.00	\$1,680.00
Gallucci	Jade	Speech Therapist	0	2	12	14	\$60.00	\$840.00
Grascia	Anastasia	Speech Therapist	0	6	22	28	\$60.00	\$1,680.00
LaForge	Kristen	Speech Therapist	0	2	11	13	\$60.00	\$780.00
Rottenberg	Rachel	Speech Therapist	0	0	0	0	\$60.00	\$0.00
Santoro	Caitlin	Speech Therapist	0	5	22	27	\$60.00	\$1,620.00
Shah	Kashyapi	Speech Therapist	0	3	16.5	19.5	\$60.00	\$1,170.00
Shultz	Raiza	Speech Therapist	0	1	0	1	\$60.00	\$60.00
TOTALS						1350		\$84,600.00